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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.
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1. Answer any five of the following questions:
1x5=5

@I 2iof6 2aras Ted wie ¢

a)  Write down the characteristic features of an ideal
OP-AMP.

s OP-AMP-99 (af*idyesfer @12

b) Convert decimal (4.625) , into its binary

equivalent.
(4.625) IR Tt heires el |
¢) What is half-wave rectifier?
SO AT 2
[Turn Over]

d)

g)

h)

Draw the voltage-ampere characteristics of a
diode.

TIRIEA (Sleb-SpifIIa @12 % 34 |

Show by diagram how NAND gate is converted
into a NOT gate.

NAND ¢4 (e fFeit@ NOT ¢t tofd 341 2i7, o
ooz e |

Write down the truth table of Half Adder.

S RTGH-4 TSP (14 |

What is rectifier?

CHRLRFRIT 00 F (I 2

Is an n-type semiconductor is negatively charged?

n-type SIEARAIR & 4ol =i iz 2
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Answer any two of the following questions:

5x2=10
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a)

466/Phs.

What is the difference between Analog and
Digital circuit? Why NAND gate and NOR gate
are called Universal gate? 3+2

Analog @3 Digital I8 x5 21w F12 NAND
(56 932 NOR (557 @il (9l5 T6T! &7 (el 2

(2)



b)

d)
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Explain how an OP-AMP can be used as

non-inverting adder.

@36 OP-AMP-(F I<2/F F(J FeICd non-inverting
Q@G Codl 1 TR 2

What is transistor and types of transistor? What
is Q point? Why two back to back diodes cannot

function as a transistor? [+1+1+2

Transistor ¥ ? €38 3% &FI 2 Q-Point H 2 4fb BT
fI919® @9l FC Transistor (O A T 1 (el 2

Given the following truth table, obtain the

simplified function in sum of products.

TopTRAba FEiiFe il =Tl |
A B C Y
0 0 0 0
0 0 1 1
0 1 0 0
0 1 1 0
1 0 0 1
1 0 1 0
1 1 0 0
1 1 1 1
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3.  Answer any one of the following questions:

10x1=10
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a)

b)
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What is meant by biasing a PN junction? What is
forward bias and reverse bias in a PN junction?
What is amplifier? Derive working of common
emitter amplifier of a transistor.
1+(1+1)+1+6

PN junction-43 IR F67¢e F (A1 2 PN junction-
GF AYLRS! @R R A IR @08 F @RI 2
epfeERiE e AlgFe eARF transistor-93
FIFIfES! TR |
1)  Draw the circuit diagrams of CB, CC and

CE configuration using n-p-n.

@3 n-p-nFEEPHREE CB, CC @k CE S_g¥

TR &) TS11b@ S 4 |

11)  Simplify the following Boolean expression:

fFfaie Jfere e e ¢
A) AB+A+AB
B) AB+A+AB
1i1) Write down characteristics of an ideal OP-

AMP. 3+(3+3)+1
G0 vl Seice f9ag<s-aa @RErefe
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